|
=

1
i

o(d dxy) (cmil\
o(d dz) (cm)‘

]
<
N

1072

T LITT]

J_.J_,-“ } +T. . ; I: OL_-?Z!III III; II:II !IIII III;

F
Nl
-

L
N4

P
T .
.

P A —
i
'i

=
=
| - -
S
'I

i

N : ’-E : 1. -4 ,-Ii-"H'_"E""
3 -2 -1 0 1 2 3 3 2 -1
—=— DQM_mkFit_baseline m“ne)

—e— DQM_mkFit_baseline6iter
—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3

B E Sk =

Py

Of
=
N
w

o(3.0) (rad)
S
o(®p Jp)

yek

10—1 ..............................................

[ER
oI
w
.I...I..I.I..I.I.I.!ﬁrl:..I..I.I.!.I.I.!......I.....

i ¥ 1 el
b ol

................................................................

1074

e
——

LI L B

v
e

!d
=
e o
a
d

L L L L 601%-

.....

W
T

T
-
o
-

1f . TH: 0.95

3 -2 -1 0 1 2 3 o 1 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)

n
A4
=

T T T T T I T IITT
Y
T
&

|
w

|
N

|
[N



	Contents
	Page 1


